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Help Robot find Rover.  Make a path of increasing 
differences.  You can only move to a box with a 
larger difference.  Draw a line to show your path.

2 9
- 2 8

4 5
- 4 3

5 9
- 1 9

2 5
- 1 2

6 6
- 4 7

7 3
- 1 1

2 7
- 2 2

9 2
- 4 8

5 4
- 4 9

6 5
- 5 8

7 8
- 7 5

9 3
- 8 6

8 6
- 6 1

7 9
- 3 6

4 1
- 2 7

1 8
- 1 1

7 6
- 5 4

7 7
- 2 9

5 8
- 5 3

2 1
- 1 7

5 6
- 5 0

9 0
- 2 6

7 6
- 2 7

9 6
- 6 8

5 9
- 2 9

6 8
- 5 1

3 3
- 2 5

5 6
- 4 9

7 0
- 2 3

6 1
- 4 6

4 3
- 4 2

6 4
- 4 2

8 5
- 8 2

6 6
- 1 9

3 9
- 2 6

7 1
- 6 1

4 3
- 3 0

3 0
- 1 5

2 8
- 1 2

5 0
- 3 2

8 4
- 6 5

4 7
- 2 7

3 4
- 2 1

3 1
- 2 8

9 9
- 8 1

9 2
- 5 5

9 0
- 5 9

7 8
- 4 9

5 6
- 3 0

3 9
- 1 5

6 2
- 4 0

9 2
- 3 9

7 5
- 1 7

9 4
- 1 8

8 6
- 4 8

9 3
- 5 4

8 7
- 4 7

6 5
- 2 4

5 8
- 1 6

8 4
- 4 1

5 6
- 1 2

9 1
- 4 1

9 6
- 6 9

9 1
- 1 5

8 4
- 6 3

2 4
- 1 3

6 0
- 1 6

9 9
- 5 1

8 2
- 4 4

8 7
- 3 7
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How many hundreds are in 
the number 19,000?

Mary has $32.  She wants 
to buy something that costs 
$95.  How much more does 
she need?

Write the number that has 
exactly 7 hundred 
thousands.

Sara bought a stuffed 
animal at the school store.  
She paid with a $5 bill.  She 
was given back 5 dimes 
and 2 quarters for change. 
How much was the stuffed 
animal?

Holly has 56 cookies.  She 
and her 7 friends shared 
them equally.  How many 
cookies did Holly keep?

3 x 10 =  = 6 x 

4 x  = 20 =  x 2

8 x  =  = 24 x 4

10 x  = 100 =  x 20

7 x  =  = 35 x 2

You need to add what to 
78 to get 85?

Name the shape with three 
sides and three angles. W,  L,  T,  ,   Q,  J,  

N,  I,  K,  H

triple 10 = 40 ÷ 5 = How many tens are in the 
number 7,700?

Emily bought a pack of six 
waters.  It cost $3.66.  How 
much did each water cost?

How many total legs are on 
12 ants?

What is 14 less than 999?
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5 0 2 4 7 5 6 8 7 3 6 9 4 2 9 0
0 8 3 2 6 2 4 2 8

Use the pieces above to help you fill in the runaway math puzzle.

7 + 3 - 8 4 x 9 + 5 - 7 Round 639 to the nearest 
hundred.

2 x (6 - 6) + 4 A book has 3 pages.  Each 
page has 11 dimes.  How 
many dimes in the book?

Write the number that is 
one thousand less than 
2,904.

x
x

÷ =
÷ =

x
=

= x =

x =
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How many times
do you need to spin?

I needed to spin
time(s) to finish the page.

7 + 4 =

3 + 8 =

2 + 3 =

8 + 5 =

4 + 2 =

1 + 3 =

6 + 2 =

5 + 7 =

9 + 8 =

Spin fidget spinner.  Quick! I needed to spin time(s) to finish.

6 + 7 = 9 - 7 = 4 + 5 = 9 + 7 = 8 + 5 =

4 x 3 = 63 ÷ 7 = 4 x 7 = 6 + 3 = 9 + 9 =

5 x 5 = 6 + 4 = 8 - 4 = 7 x 5 = 42 ÷ 6 =

8 + 8 = 9 + 6 = 7 - 3 = 4 + 3 = 4 x 9 =

9 x 3 = 4 + 9 = 5 + 8 = 21 ÷ 7 = 5 + 8 =

4 x 8 = 8 - 6 = 6 + 4 = 9 + 5 = 6 + 5 =

86

32 54

62

7

52

46

32

5

68

66

78 + 5 = 69 + 3 = 36 + 4 = 46 + 8 = 27 + 7 =

55 + 8 = 13 + 6 = 23 + 7 = 68 + 9 = 57 + 5 =

73 + 5 = 16 + 9 = 38 + 8 = 49 + 4 = 75 + 8 =

46 + 7 = 57 + 3 = 35 + 3 = 18 + 4 = 28 + 6 =
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How many times
do you need to spin?

I needed to spin
time(s) to finish the page.

3 + 8 =

7 + 9 =

8 + 3 =

6 + 5 =

1 + 4 =

9 + 1 =

2 + 8 =

4 + 5 =

5 + 5 =

Spin fidget spinner.  Quick! I needed to spin time(s) to finish.

6 x 6 = 9 + 3 = 9 + 6 = 5 + 8 = 6 - 3 =

4 x 5 = 54 ÷ 9 = 4 + 8 = 3 + 5 = 4 + 3 =

7 - 4 = 3 x 3 = 8 + 3 = 6 x 9 = 4 + 9 =

24 ÷ 8 = 3 x 7 = 20 ÷ 5 = 8 + 5 = 7 - 6 =

8 x 3 = 7 + 7 = 7 + 3 = 9 + 7 = 7 - 4 =

92

29 63

46

40

63

8

36

5

89

45

38 + 5 = 48 + 9 = 57 + 4 = 79 + 7 = 24 + 7 =

68 + 4 = 14 + 7 = 47 + 4 = 26 + 4 = 17 + 3 =

58 + 3 = 69 + 4 = 77 + 4 = 37 + 5 = 53 + 8 =

64 + 5 = 37 + 7 = 25 + 6 = 48 + 3 = 75 + 3 =

14 + 8 = 55 + 4 = 25 + 7 = 14 + 3 = 79 + 8 =

64 + 5 = 33 + 8 = 49 + 5 = 17 + 8 = 64 + 7 =
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Nathan had three dollar 
bills, two quarters, and 
five nickels. He spent 
$1.79 on a Groundhog 
Day poster. How much 
money does he have 
left?

Amanda went to the 
circus with her father 
and mother. The best 
part of the circus was 
the clown. He could 
juggle and make people 
laugh at the same time! 
The tickets cost $9.75 
each. How much did it 
cost for Amanda, her 
father, and her mother 
to go to the circus?

The fifth grade students 
are having a breakfast 
for their parents for 
Children's Good 
Manners Month. Erin 
used a muffin pan to 
make 4 batches of 
muffins. Then she made 
2 extra muffins. She 
made 34 muffins in all. 
How many muffins does 
the muffin pan hold?

4 36 9 27 4 32

5 25 9 63 6 42

What are 26 hundreds equal 
to?

The factors of 18 are 1 3
If B = 9, then what does B + 6 
equal?

Circle the best estimate for the answer to:
2,233 - 786

1,700 1,600 2,200 1,400

What is the mode of these 
numbers?

29, 21, 28, 27, 25, 29, 24, 24, 18, 
24

word root sub can mean under submarine, subtract
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Round the number to the
place value of the BIG number.

155 ,526

Fill in the missing fractions.

, 3
10 , 4

10 ,
2 18

2 3 + 4 1 =
Locate where to put the number 630,000
and label the point D.

620,000 640,000

What are 100  equal to? How many seconds are in 
seven minutes? 1 1

x 7

What is the area of a 
rectangle that measures 7 
mm by 11 mm?

Color 73%.
2 6

+ 1 6
2 4

Share 20 equally among 4.
9 7

- 9 6

Write the number for 
seven thousand,  nine 
hundred fifty.

3
8

+ 6 2

Write a word to describe May. Is 17 prime or composite?

Would you use a ruler or a 
yardstick to measure the 
length of your room?

Circle  the  complete  subject.

Our  team  won  the  game.
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1 0 0 5 9 - 2 6 7 - 2 9 6 4 = 6
2 = - 2

Use the pieces above to help you fill in the runaway math puzzle.

Name the polygon that has 
ten vertices. 1 x 5 =

1 2 x 1 2 =

laer

later

letir

lator

19

Write this number using words. Write the number with 5 
ten-thousands and 6 ones.

Divide  each  word  between  the 
prefix  and  the  base  word.

unfold return

4 - 0 = - 6

-

- 0 = 4

7

- 0 = 3 - 1

6 3

-

8 9 8

7 - 3 = 9 - 5

- 5

= - =

= 1 5 6

5 - 4 1 -

- - 4

2 9
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065
+ 347

388
- 302

378
- 974

160,1
- 755

766
+ 343

608
+ 424

848
+ 981

143,1
- 618

628
+ 383

508
- 232

290,1
- 845

462
+ 905

594,1
- 596

832,1
- 586

745
+ 919

337
- 505

018
+ 504

755
+ 155

323,1
- 596

288
- 725

309
+ 803

336
- 431

703
+ 765

068
+ 066

806
+ 583

157
+ 984

782,1
- 133

427
- 575

594
+ 903

324,1
- 746

451
+ 263

087
+ 889

006
- 331

792
+ 595

983,1
- 456

9
+ 4

+ 7

+ 6

+ 4

03
-

32
- 6

+ 5

+ 6

+ 9

73
-

53
-

82
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1 + 4 = 5 + 2 7 6 2 3 - 6 - 5 6
= 8 3 5

Use the pieces above to help you fill in the runaway math puzzle.

Write the length in inches.

in. 1 2 3 4 5 6

Choose the word that best completes 
the sentence.
I think I will be able to do better 
on (next/last) week's spelling test 
because I plan to study for it.

+

1 3 + 8 = 1

+ =

3

0 + 6 = 3

+ 1 -

+ 8 8 6

2 + - =

= 7 0 = 9 - 2

4 + 1 = = -

1 9

9 + 4 1 3 -

+ 0

- 2 = 9 -

=

8

7 - = 6 - 4

2
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0

1

2

3

4

5

1 2 3 4 5

A

B

C

D

E F

Write the letter that is at the ordered pair.

1. (4, 5) F 2. (3, 5) 3. (1, 1)

4. (2, 5) 5. (4, 4) 6. (5, 4)

Write the ordered pair for the given point.

7. F (4, 5) 8. C 9. B

10. E 11. A 12. D

Plot each point on the coordinate grid.

13. G (5, 5) 14. H (1, 2) 15. I (5, 2)

16. J (4, 3) 17. K (1, 5) 18. L (3, 1)

19. M (3, 3) 20. N (3, 2) 21. O (5, 1)
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Emma is putting together goodie bags for her birthday party.  She invited 8 friends, and 

everyone can come except for Holly.  At the party store, she bought 17 temporary tattoos.  

She wants to give everyone an equal number of temporary tattoos.  How many should she 

put into each goodie bag?

Rosa is playing a game against Amanda.  In the game you collect gold coins.  You can also 

get hearts.  Every heart is exchanged for 2 gold coins at the end of the game.  Rosa got 

300 gold coins and 19 hearts.  Amanda got 31 gold coins and 70 hearts.  Who won?

Josh invented a weird digital clock app.  It says:

"25 minutes ago it was 3 hours until 2 in the afternoon."

What time is it now?
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END (7 x 3) + 6

2 x 24 ÷ 12

1 x 6 + 6 + 12

8 + 4 + 9 + 8

END

9 + 3 - 3 + 7

(7 + 7) x 5

110 ÷ 10 x 6

3 + 10 x 4

(6 + 7) + 11

END 257 + 32

128 + 14492 + 42

447 + 25

445 + 42 257 + 15

END

399 + 33

450 + 45

270 + 39

181 + 23

427 + 23

467 + 40

319 + 48

START

450

Draw a line from START to END.
27 43 487
450

Cross out the number you use above and then write it below.
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Jacob, Devin, Tyler, Dylan, Steven, Timothy, and James each scored a different number of 
points (30, 8, 7, 6, 3, 10, and 12) during a game of basketball.

Figure out how many points each person scored.

1. Dylan scored more points than Steven.

2. Dylan scored fewer points than Tyler.

3. Steven scored more points than James.

4. Dylan scored more points than Devin.

5. Dylan scored four times as many points as Jacob.

6. James scored fewer points than Tyler and fewer points than Dylan.

7. Steven scored more points than Timothy and more points than Jacob.

8. Devin scored fewer points than James and fewer points than Tyler.

9. Jacob scored fewer points than Tyler.

10. Devin scored more points than Timothy and more points than Jacob.

11. James scored more points than Timothy.

Jacob scored  points.

Devin scored  points.

Tyler scored  points.

Dylan scored  points.

Steven scored  points.

Timothy scored  points.

James scored  points.

Which is larger, 3
5 or 3

6 ? Turn the adjective into an adverb.
correct
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Complete each pattern.  Write what the rule is for each pattern.

 (6,561) ,  (729) ,  (81) , 

 (9) ,  (1) , 1
9 , 1

81 , 

 (4) ,  (2) ,  

(1) , 1
2 , 1

4 , 1
8 , 1

16 , 

Complete each pattern.  Write what the rule is.

6 42 294 2,058 14,406 100,842

8 24 72 216 648

5 40 320 20,480 163,840

1 81 729 59,049
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Sudoku Sums of 6
Each row, column, and box must have the numbers 1 through 6.
Hint: Look for sudoku sums.  The sum of the two boxes inside of 
the dashed lines is 6.

Here is an example of a sudoku sum of 6: 2 4

6

4 6 2

1 5 2

4 5 1

4 3

Is 32 a composite or a 
prime number?

Name the shape with six 
sides and six angles.

There are 4 groups of 6 
rocks.  How many rocks?

377 + 9 = What number is halfway 
between 45 and 49?

12 x 3 = 
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Cross off the number that does NOT belong.

5, 8, 5, 5, 8, 5, 8, 5, 8, 5, 8

Why does __________ not belong in the pattern?

Cross off the number that does NOT belong.  Hint: Look at movement of digits!

625613, 362561, 136256, 613625, 561362, 256136, 625613, 362561, 

136256, 613625, 561362, 256136, 362561, 625613, 362561

Why does __________ not belong in the pattern?

https://www.mathworksheets.com


Name:
Week of May 17
MathWorksheets.com

Sudoku Sums of 10
Each row, column, and box must have the numbers 1 through 6.
Hint: Look for sudoku sums.  The sum of the two boxes inside of 
the dashed lines is 10.

Here is an example of a sudoku sum of 10: 3 7

6 2

2 4 3

4

1 2

4 5

What is the least common 
multiple of 5 and 10?

What is the least common 
multiple of 3 and 6?

What is the least common 
multiple of 8 and 4?

Write the number that has 
exactly 8 hundred 
thousands.

Is 838 closer to 800 or 
900?

Name the shape with eight 
sides and eight angles.
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What is the rule for each pattern?

55, 133, 48, , , 107, 34, 94, 27, 81, 20, 68

60, 48, 54, 46, 48, 44, 42, 42, 36, 40, 30, 38, 

37, 81, 32, 71, 27, 61, 22, 51, 17, , , 31

Find the missing numbers.  These both have the same rule.  What is the rule?
If
   1 , 1 = 1
   2 , 2 = 4
   3 , 3 = 9
   4 , 4 = 16
Then
   10 , 10 = ?
Hint: The answer is NOT 25.

If
   6 , 6 = 36
   7 , 7 = 49
   8 , 8 = 64
   9 , 9 = 81
Then
   13 , 13 = ?
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Jennifer's family consists of James, Austin, Jordan, and Christina.  They are Jennifer's mother,
father, younger brother, and younger sister.

Name which person is the mother, father, younger brother, and younger sister.

1. James is older than Jennifer.

2. Christina has no brothers.

3. Austin likes to jog. He jogs every morning.

4. Jordan is not Jennifer's younger brother.

5. Christina is not Jennifer's father.  She is also not Jennifer's younger brother.

James is Jennifer's .

Austin is Jennifer's .

Jordan is Jennifer's .

Christina is Jennifer's .

Puzzle:

26

25

24

21

24 30 9 33 +
The sum for each column

and row is given.
= = =

=

Work Area:

26

25

24

21

24 30 9 33 +
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Jennifer, Stephanie, Benjamin, and Connor each measured the size of their rectangular 
rooms.  They each wrote down the width and length of their rooms on the board.  The width 
of the 4 rooms are 8 feet, 7 feet, 11 feet, and 16 feet.  The length of the 4 rooms are 13 feet, 
16 feet, 15 feet, and 14 feet.

Figure out the width and length of each person's room.

1. The perimeter of Connor's room is thirty-six feet longer than the width.

2. Benjamin's room is in the shape of a square.

3. The length of Stephanie's room is six feet longer than the width.

Jennifer has a room with a width of  and a length of .

Stephanie has a room with a width of  and a length of .

Benjamin has a room with a width of  and a length of .

Connor has a room with a width of  and a length of .

Puzzle:

2

12

14

17

18

20 6 16 9 12 +
The sum for each column

and row is given.
= = =

= =

Work Area:

2

12

14

17

18

20 6 16 9 12 +
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Can you draw ONE line going through ALL the circles?  Your line can go left, right, up, or down.  It cannot 
go diagonally.  Your line cannot cross over any part of the line you have already drawn.
You MUST TURN in a BLACK circle.  Do NOT TURN in a WHITE circle.

The first puzzle shows a correct line going through all the circles.

Example: Finish the line:

List the first three multiples of 11. Calculate the sum of 35, 10, 
and 25.

grapis

graps

grappes

grapes

Do you use A.M. or P.M. to 
write the time you eat 
breakfast?

Make a pattern.
Start with 77.
Subtract 10.

, , , , ,

Explain what is meant by the underlined phrase.
I saw my uncle fixing his car and he told me to give him a hand.
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